| N of associated (recoToSim) tracks vs normalized x? |

[N of reco track vs normalized x2 ]

o
39

track x?

H HE :
HE : ;
. . : %
1 H H H
= 3 = 2 3 N
—
syoen arealdnp Oney ° syoen arealdnp Oney °
32
N <
00 X
— O
54 T N
o Pl HEH
<, o HHE I
— . P P
o~ N N N M -
=3 N N N M -
— . . . ' . . &
Gl N N N M -
© ' ' N H -
~ N N N H -
o~ N N N M Lol
H H H | HIH
2 5 3 =
Syl aey © syoel axey - ey ©
02
N <
00 X
— O
@ T
© 5 M :
— R :
< . H
— .
N N :
N N :
= Do : H
. N :
© M N
~ M N
: N N :
. o HEHEEH H L
3
syoes ani © syeneny oney °
02
NS
00 X
— O
3 T
© = P .
i R
<, I
— .
N N
N N =
S
. —— 3
=
i I
© . P .
s :
5 I
< 1
8 :
o~ sl
3
o HEHE
o = L
] 5 3 ]
syoen ° Z| syoen dney °




	Contents
	Page 1


